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A

B

C

D

8

8

9 10 11

9 10 11

330m3
WENTYLATORNIA / MASZYNOWNIA

122m2
B/-1

119,0m3
MAGAZYN

40,6m2
B/-1

77,8m3
MAGAZYN

26,4m2
B/-1

20,3m3
MAGAZYN

6,9m2
B/-1 19,5m3

MAGAZYN BRUDNY
7,1m2
B/-1

18,5m3
MAGAZYN BRUDNY

6,3m2
B/-1

19,5m3
MAGAZYN BRUDNY

7,1m2
B/-1

57,5m3
EKG

19,5m2
B/-1

61,0m3
GAB. ZABIEGOWY

20,7m2
B/-1

42,5m3
SOCJALNY

14,4m2
B/-1

111,7m3
KOMUNIKACJA

44,7m2
B/I 187m3

KOMUNIKACJA
75,8m2
B/I

62,8m3
KOMUNIKACJA

23,1m2
B/I

86,4m3
KOMUNIKACJA

29,3m2
B/I

120,9m3
WĘZEŁ CIEPLNY

41,0m2
B/I

52,5m317,8m2
B/-1

47,2m316,0m2
B/-1

16,2m3
POM. GOSP

5,5m2
B/-1

42,4m3
MAGAZYN

14,4m2
B/-1

53,4m3
KOMUNIKACJA

18,1m2
B/I

56,9m319,3m2
B/-1

18,5m36,3m2
B/-1

60,0m3
SZATNIA

20,3m2
B/-1

41,0m3
SZATNIA

13,9m2
B/-1

20,9m3
SZATNIA

7,1m2
B/-1

19,7m3
KOMUNIKACJA

6,7m2
B/-1

213,6m3
KOMUNIKACJA

72,4m2
F/-I

16,5m2
B/I

53,0m3
ROZDZIELNIA NN

18,0m2
B/I

17,1m3
WC

5,8m2
B/-1

32,4m3
MAGAZYN

11,0m2
E/-I

48,4m3
MAGAZYN

16,4m2
B/I

47,5m3
ŁAZIENKA

16,1m2
E/I

25,5m2
E/I

53m3
KOMUNIKACJA

18m2
B/-I

56m3
KOMUNIKACJA

19m2
B/-I

40m3
POM. GOSP.

19m2
B/-1

POMIESZCZENIA PRZEZNACZONE DO ADAPTACJI NA APTEKĘ


